Oll()-"/\

ol

AFA A}

=At=H| 20 Chet

HEER DN

X 27 7| €7 : 2025 6” 30 XY



PAGE

XS0 THBE HEE DA ssssssssesssssssssississssns



-_'
pwc
=A2H[E0| Cfet HERE DN

LS FA AL
FFE A0 HE

ol2 EY LSEA FAIZ|Ate] 20251 6 302 WYl &=Xt2H| 22 HESIASULE Ol &X2H|8
P MY2 SA ZERI0IAH A2 22lel MY2 3 tIf%HI%% HESN 0|8 2AHZ E

SEFAYR &At2H| 8 & AEX A T2t HESRASLICE Of x| 2 20210] &XAt2H| 2
257 = BAIZIX| OILSIACHE 210 TS| LE+Fo| &iE B=E HEE HEstn HA|
g AS 275t YSLCL HEE F2 2N FMH EA0| Ot 2YE D2 AARLE RE2 8
o| gAE MBELICL 222 A UAZ|EO WHE ZALE HAISHK| OfLSIRAS 22 ZAM|HE B
SHX| OfLIgtL Ef.

20lo| HEZD ¢7] =XH2H|80| 5242 BHA SFENYH I SEFAATE AlGAHO
SIEi =/ Of FEIRATHE Ol EAE(X| OfLBHRAS LTt

202548813

Ol AEEINE AERIA Y025 H 8 & 13 ) BXE Fast AYLCH o2t EREAMY
O|Z O] RUME HEst= AIF ALO|O] EHE 3|AtS wXt2H|80 S8t T2 UH = Us
AtZA0|Lt Atgo| wiet == o0 0|2 QBI0] O] HER DAJ +=FE &= USLICH




=AtEH| 220 A

X 27 7| ©t7]: 20254 68 302 HXY

LSEH FA A (THR: 2T, %)
T & 2025.06.30

1. YAZEXHE(=A-B+() G0
AP Ef 2 =X A (A) 890,743
= (B) 258,935

7F SR 34,272

Lt MZ3, MS A, O|HYAM KL K MZH|E 42,166

Ct, THEDHY| 37148 =0 CHEM A 154,534

2t E42A 2 XA & -

Of Xt2|Are] 229

HE W FESSY

Ab ALREXPH 23| Ate] Z&Y -

Of. MEIAZ O E =42| 10022 16 -

AL dEdFEAEs W AE2Y0E -

A AAESE X WA =Y 5

7 RpHg 7 -

E}. 7|E} 27,958
7htE = 4|(C) 29,710
7t FERRttiESE S 12,057
Lt Z=2Xt 3 -
Ct. 282|258 x| 17,653

2}, XpAFE 70| 2) :




T & 2025.06.30

2. S Y(=D+E+F) 283,175
AEEH(D) 159,346

7t FARIEY 75,256

L. g9 56,538

Ct. 2letel 628

2t S FEXSHEEY 26,669

O et SIS -

bt SH Y 255

A ELEAU(E) 75939

S AY Y (F=max(?t, Lh+Ct+2h 47,890

7t gEAES2] 10% 6,775

Lt S EY0|Y A 47,890

Ct g2l S0 I CHE 7t -

2t XY At -

3. Yo KtH=2(1-2) 378,343
4. HEXE23 67,750
5. QR X[X7| A= 47,425
6. &= Xt=H| &(=(3/5)x100) 797.77%




